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The objectives we are working on in this week are:
· To multiply numbers by 10, 100 and 1,000, giving answers up to 3 decimal places
· To multiply decimals by integers (whole numbers) 
· To divide decimals by integers (whole numbers)
· To associate a fraction with division and calculate decimal fraction equivalents for simple fractions
This week’s learning will be a recap of more learning we carried out in school during the Spring term. On Monday, you will start by revisiting how to multiply numbers by 10, 100 and 1000; then on Tuesday, you will revisit multiplying decimals by whole numbers; on Wednesday, you will be revisiting dividing decimals by whole numbers; on Thursday, you will be finding decimal equivalents for simple fractions and finally, on Friday, you can practise what you have learnt this week using activities on Classroom Secrets Kids. 
[bookmark: _GoBack]Using the link below, click on Summer Term – Week 5 and each day (Monday – Thursday) watch the video and complete the accompanying task (these are printed in your pack). Lesson 1 – Monday, Lesson 2 – Tuesday, Lesson 3 – Wednesday, Lesson 4 – Thursday. 
https://whiterosemaths.com/homelearning/year-6/
On Friday, use the following links to continue practising what you have learnt this week:

https://kids.classroomsecrets.co.uk/resource/multiply-by-10-100-and-1000-video-tutorial-2/

https://kids.classroomsecrets.co.uk/resource/year-6-multiply-decimals-by-integers-reasoning-practice/

https://kids.classroomsecrets.co.uk/resource/year-6-multiply-by-10-100-and-1000/

https://kids.classroomsecrets.co.uk/resource/year-6-decimals-as-fractions/
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© ) Drow counters on the place value charts to represent
each calculation.

Multiply by 10, 100 and 1,000

©  complete the calculations and sentences.

44x10
P [ o TG v [ ]

4.4 x 100
Th
a) 23x10=
When the number is multiplied by 10 the counters move 1
place to the left.
4.4 x 1,000
b) 23 x 100 =
[ [ [ [ v [ ]

When the number is multiplied by 100 the counters move

places to the left. Y
© 23x1,000=
When the number is multiplied by 1,000 the counters move b) Complete the calculations.
places to the left.
a4x1=
44x10=
© complete the diogram. 100
‘ 3.06 x10 x10 | 44x1,000=

What do you notice? @
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O  complete the calcuiations

o Write >, < or = to compare the number sentences.

o 134410 @ adx = 4a00 14%10x 10 % 10 Q 1.4 % 1,000
b) 41.4x 100 = o =1.03x 100 |4x|0x|00©|4x|,000
© 0.415 x 1,000 = ) 3044 = x 10 |.4x|ﬂx|0©|4x|,000

14x10x2 Q 1.4 x 100

is calculating 14.3 x 200

She writes this as her answer.

14.3 x 200 = 28.600

Kim's mistake.

What do you notice? Why does this happen? ©  Use the cords to complete the calculation.

You can use each card more than once.

x1 x10 x 100 1,000

0.002 = 2,000

How many ways is i

possible to complete this calculation?

®

Talk about

a partner.
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Multiply decimals by integers

©  Use place value counters to solve the calculations.

@) 32x3=

T —

100

100

b) 46x2=

© sohve the multiplication. Draw your answer.

122x3=

€ Wiich uses long muttiplication to solve 3.72 x 3

Use long multiplication to work out the calculations.

~lon o
LleLs
oo o o|wn

o) b)
4.8 6 2
x 4 x
@ Work out the muttiplcations.
o) 52x4= d) =234x3
b) 143x3= e) 11.505x 4=
9 6x9.1= ) 9.602x6=
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© 025 kg of flour s needed to make

How much flour is needed to make

© Work out the multiplic

one cake.

four cakes?

=

@) 72x2= b) =345x3
72x4= =345x3
144x8= =345x3
72x8=

o Amir is solving 3.4 x 4

Do you agree with Amir?

Explain why.

did 34 x 4, which was 136
Then T multiplied my answer

To solve this, I

by 10 to get an answer
of 1,360

©  se the digits 1, 2,3 and 4 once each to create a calculation.

1 2 3 4

. x

@) How many different products can you make?

b) What is the greatest possible product?

) What is the smallest possible product?

d) What is the product closest to 127

Compare answers with a partner.
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©  Esther solves 13.2 + 4 by partitioning 13.2 into two numbers that are

easier to divide.

132+4=33

Use Esther's method to complete the part-whole model
and calculation.

92+4= 165+3=

Compare answers with a partner. Did you partition your numbers in
the same way?

@)

b) 19.44+9 =

1953+9=

1962+9=

@ il in the missing numbers.

© complete the calcuiation.

84+ =42+

How many different solutions can you find?

What patterns do you notice? Talk about it with a partner.
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@ o) shade 0.17 of the hundred square.

© complete the sentences.

01|01 |01|ot|or|ot|or|or|ar|or

The whole has been divided into equal parts.
Complete the sentence.

Each part is worth parts out of are shaded.

This is equivalent to Write 0.17 as a fraction.

0.17=

b)

b) Shade 0.2 of the hundred square.

The whole has been divided into equal parts.
Each part is worth Complete the sentence.
parts out of are shaded.
parts out of are shaded.

Write 0.2 as a fraction i

its simplest form.

This is equivalent to

02=
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Use the bar models to fill in the missing numbers.
02=

0
04=5

Draw a diagram to show that Ron is wrong.
© il in the missing numbers.

p
a) D.N:W S0

b) 06=5 ==

9 03=S5 =5

d -

o =%
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